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(- VEH R NE
HEARE DS e FE 43 48 91 25.5 65.5 ANE

3 fir PEAT 47 49 96 30.0 66.0 NE

A a5 H 52 40 92 25.0 67.0 ANE

5 iz 2 H A 52 46 98 30.0 68.0 NE

6 fir BHO 15 43 40 83 14.7 68.3 ANE

7 4% PR HE— 44 47 91 22.7 68.3 N1

8 fir A H 50 44 94 252 68.8 ANE

9 fir M G 46 39 85 16.0 69.0 NE

10 £z ik B 1T 47 48 95 25.9 69.1 ANE

11 £z Yyl 40 42 82 122 69.8 B G

12 fif ARl B H 44 39 83 13.1 69.9

13 iz L FRR 41 43 84 14.1 69.9

14 iz 3 N SN 44 43 87 16.8 70.2

15 fi2 fIRG Rp e 47 41 88 17.7 70.3

16 fiz SEIBSES 47 45 92 21.7 70.3

17 fiz JEve 45 39 84 133 70.7

18 7 = g 55 52 107 35.8 71.2

19 7 A FJE 41 42 83 11.1 719

20 iz L ABR 48 45 93 209 72.1 TRE

21 i fag il 48 40 88 15.7 72.3

22 fr BRI 5 R 50 44 94 21.6 724

23 fir K% Bk 59 49 108 35.1 72.9

24 i /AT F5 R 40 43 83 99 73.1

25 ir B 51 48 99 25.7 73.3

26 ir HRy o — 47 46 93 19.6 734

27 HEH: 78k 43 45 88 14.3 73.7

28 i N 51 43 94 20.2 73.8

29 ir PR S 46 43 89 15.1 739

30 iz I B 45 51 96 22.0 74.0 TRE

31 7 it 9 T b 50 49 99 24 4 74.6 Rl &

32 fr RBE #— 47 46 93 183 74.7
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33 fir
34 fif
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36 fiL
37 fir
38 fif
39 fir
40 B
41 iz
42 1
43 fir
44 r.
45 fir
46 1
47 iz
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50 7.

51 fiz
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54 fir
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56 fir
57 iz
58 fir

59 7.
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